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Sidleyenyser (1) imenss) dlamssEsn sflwurs &al uHeurd o drergm GTGOTLIS Gl
gfluniggsd Gsrarameyb. FsLufald Gopulmidear <amps
semsrasiiumeTilLd o Lamgwns Ggfeléseayib.

(2) Beow Seg SHUIY awilmear W usHED 3lg.&ECsMy Heus G
Lwauhss Ceuam(Bid. LLRISHE eurasHE CUETAG LiwLETLIGEseytb.
Instructions : (1) Check the question paper for fan'ness of printing. If there is any lack of
‘ fairness, inform the Hall Supervisor immediately.
(2) Use Blue or Black ink to write and underline and pencil to draw
diagrams.
GBIl : @eedamgnar Breng LGHsmens QaraLg).

Note : This question paper contains four parts.

LGS - I/ PART - 1

Gy : ()  Siemersg cNamésErdEhn el wafldseywb. 12x1=12
(i) Gar@ssuul Herer BremE oL salld Waaw ghym_w afaLulamer
Caiptlshss GO R elenLulamanb Coisg erupseyi.

Note : (i) Answer all the questions.

(ii) Choose the most appropriate answer from the given four alternatives
and write the option code and the corresponding answer.
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1.

@ell Qaendlen 2 mUGLmESLTaE) erGLmgb

(=1) Crrésb

() rdliT&E 0

(@) CrisEh idves afissD
() &L

2

&l LenL_LLg).

Magnification of a convex lens is always :

{a) Positive
(b) Negative
(c) Either positive (or) negative

(d) Zero

Spssar ahs elemeandd Gaur o smelar Blenm erewmanfled prang; @m'mmm ?

(1) o flangey

() v flevgey

ENE

() Bl omen Hevgey

In which of the following reaction, the mass number decreases by four of the

daughter nucleus ?
(a) o decay (b)

(c) « decay (d)

Bilesr Agmd epesamm Hlevm

(1) 2 8 (<) 16 &

The gram molecular mass of water is :

(a) 2g (b} 16g

B | decay -

neutron decay

(c) 18g (d) 8g
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SDSEERTL_IDNIET 6T FTeusHTLIINET ?
(1) S CLnan (=) Quen&err
(&) B (FF) <y eos:anme
Which of the following is the universal solvent ?

(a) Acetone (b) Benzene

{c) Water ~ (d) Alcohol

IUPAC Quwfi@sdlaruy gogman@ésts Cerssliu@n @UG&MLWLH[_F,]GMU
SeCesmi(p

(1) <= (<24} puild yblevib

(@) g9 (m) g

The secondary suffix used in IUPAC nomenclature of an aldehydq_is
(a) -ol.-. (b} -oic acid .- -

e} -al (d) ~ -ome

Bmeumpeilsafien @guid SIDDEET QETaRTLg).

(1) 3 ()4 (&) 2 (F) &
The heart of amphibians possess chambers.

(@) 3 b 4 | © 2 d) 5
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7.

yly spHd . ge per_Gumdng.
(1) LsRIGTIHD

(<) awl CLrsram_fwurelear 2 U g bolb

(&) upsGarer geer

(7} el GLrsnarr Awnellen 2 L Lipé seiey
Kreb’s cycle takes place in

(a) chloroplast

(b) mitochondrial matrix

{c) stomata

(d} inner mitochondrial membrane

@ (peven BluyrTenseT SresTLL@D GLId

(=) sar clfisHeny (<) Qu@Bepaerts Lpenfl
(@) euam as@ (FF), a’féﬁ?r;cnﬁlgaﬂu_n_b
Bipolar neurons are found in :

(a) retina of eye (b) cerebral Cbrtei:l

(c) embryo (d) respiraito;r} eplthehum ;

HenGauilubien ellenemoumed 2 (HeuTeug

(=1) @evGurriser (2,) Garatligquir

(@) ensCam | | (rF) é]a;_rrrLﬁl(Sn_rrefu(Surfr"rgss'rr |
Syngamy results in the formation of o

(a) zoospores _ (b} conidia

{c} zygote - {d) chlamydospores__
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10. QummESIS :
(1) smi&Gamon (i) ofstugurer L8
(2) &nm&Gesrmom (i) eFsluguirer s
(3} unalligOwr (i) @evewriiLgdls LHHCHML
(4) LTeGUgG LT (iv) eudpn LPHCHM)
(==1) (1)-Gid), (2)-Gv), (3)-{i), (4)-6)
(=) (1)-(v), (2)-Gid), (3)-(), (4)-()
(&) (1)-0), (2)-Gi), (3)-(iv), (4)-()
(F) (D-(v), (2)-0), 3)-(id), (4)-(ii)
Match the following :
(1) Sarcoma (i) Excessive hunger
(2) Carcinoma (i) Excessive thirst
(3) Polydipsia (iti) Connective tissue cancer
(4) Polyphagia (iv) Stomach cancer

11.

(&) (1)-Gi), (2)-6v), (3)-G), (4)-G)
(B)  (1)-Gv), (@)-Gid), B)-6), -G
© (-, (2)-{id), (3)-Gv), (@)-G)
@ (1)-Gv), (2)-6), @), (4)-(iid)

o HEPFAlen sryartons 9 : 3 : 3 : 1 2 (eundlpg ?
(=) Gfize (@) G0ECs sassd
(@) smidend @EIkESD (7) @OrhE seraio
9:3:3: 1 ratio is due to : -
(a) Segregation " (b) Crossing over
(c) Independent assortment ('d)" Recessiveness
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12. el Ly Qe sreureilued arenanid Qemdame (pgear (psedler Aflepaslit@siuet :
(1) Qe (<=3) J.W. enriavGuisit |
(@) Qumanmed(® fFren (FF) ablCam 15 sflfiev
The term Ethnobotany was coined by :

{a} Khorana (b) J.W. Harshberger

(¢) Ronald Ross (d) Hugo de Vries

u@S - II / PART - II
SO : stemauCugnd e damssErs@ dlmLwaiissab. elem aar 22 -5@
X sU_L_muwns eflenwaflsseyb. 7x2=14
Note : Answer any seven questions. Question No. 22 is Compuisory.
 13. Hepeuiold — GUETUMIGHELD. DSEH CUAMSFHET WTenau ?

- Define inertia. Give its classification.

14. auand gen e Sipwonss Cararmdng ?

Why does the sky appear blue in colour ?

15. g sGanfl — euenTmIESE|D.

Define one Calorie.

16. <eusT Grm efduler Lwenur@seie gCsamibd BTaT.enens dnmis.

Mention any. two applications of Avogadro’s Law.
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18.

19.

20.

21.

22.
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Sl anLulled sraTiLn QU (Baras] SeeUaLILSMET 6T(LPSIs.

List out the parasitic adaptations in leech.

gpenerenll LITGISTULING eeudsd(HéEs 2. 50 b 2 MIULSET Wreney ?
What are the structures involved in the protection of brain ?

-t

Qer@Gssuu’_Gerer LLsHo A, B, C whmib D i LTSEISMHET SienLIMETLD

& TEITEL LD,

Identify the parts A, B, C and D in the given figure.

wryl Qurflufiwed — euampLm&ESayLh.

Define genetic engineering.

avlleny_(H (SPRITE) eresimmed erebnear ?

What is Sprite ?

2 8.8 flepaupeyerw @ sHfluss QurmeTTangy sigmssm @eaaralaGung
QauaflllHw Qwrss HHnmas SaTESHS.

Calculate the amount of enérgy released when a radioactive substance undefgoes
fusion and results in a mass defect of 2 kg.
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LGSl - I / PART - IIT

GOy : eremeuGuigd e cNammsaEnse oL walssan. eflam aram 32 -&@

Note : Answer any seven questions. Question No. 32 is Compulsory.

23.

24.

25.

26.

27.

S Lmuwrs eflen_wiaf&sHa D,

Sllensudern swatum el Bl L afllsn GramLmbd cid apod smed.

Deduce the equation of force using Newton’s Second Law of Motion.

AL innfrened pmid gyourieney Gampurhsamer CeunuBisss.

Differentiate the eye defects : Myopia and Hypermetropia.

(=) BQwrell o fireymized erempmed ereman ?
(<2,) @l arf@yelisser eremmmed eresmen ?
(a) What do you understand by the term Ultrasonic Vibration ?

() What is meant by reflection of sound ?

(24) Qrsssaene cTannTe) crenan ? THSHFSTL(D HMHS.

(<) srdlpgdlen Csend @rerr(h LLETUTHS®ET Faf)s.
(a) What is an amalgam ? Give an example.

(b) Mention any two uses of copper.

Gerlden gnuemwwngsa (peanel ellerdEs.

Explain thé mechanism of cleansing action of soap.
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30.

31.

32.
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(<=1} e D STeurhigeily SrawlL@LLD (P GUaHSLITET ag QgrEglyseaen
GHIIPs. |
(=) eflgCargemaanu LTHEGD SMrenfladr wnemel ?
(a) Name the three basic tissue systems in a flowering plant.

(b) What are the factors affecting photosynthesis ?

@rsssdan Lefigamar LliqualBHs.

Enumerate the functions of blood.

weopfi Csllly S@wlysd aeaerm Hossy Bi LDI;.I_‘Q";VGB)‘Q‘; @{lﬁarﬂééa;é
Qeldlenpar ?

How do rainwater harvesting structures recharge ground water ?

(=) SCanman_1, SGanmment 11 Lp Helli odloug ereman 2
(<=,) SIOCarGambaseT cTemTey cTeses 7

(a) What do you understand by the term phenotype and genotype ?

(b) What are allosomes ?

(<) 0.01 M HNO, sepgadler pH wdlliy sTaws.

(<) 100 &. ffld 25 &. sissmyenws smrss @@ saysed surfsstuBGSng.
eigan sapaurmaiar Hlep sgelssmss srars.

(a) Calculate the pH of 0.01 M solution of HNO,.

(b) A solution is prepared by dissoivirig 25 g sugar in 100 g of water. Calculate
the mass percentage of solute.
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U@s! - IV / PART - IV
GSPIIY : SewenSg amssEréELwn aﬁ]emv_u_umﬂesa;mm Ggenauwimen @)L hisafléd LILD
QUG TUIGYLD. 3x7=21
Note : Answer all the questions. Draw diagrams wherever necessary.
33. (&) (i) @O Qeuliu e — cuamTULESaLD.
(i) Bl&se wHgd GCrmub sobs 2 Carsssmans Wearery QailiLGupmid
Frgenons LwearU(RSSUILI{HeUS e ?
(iil) @@ Bl e mE Qe ereueumy Wlen sTgatigmern LUNGETEADE ?
S|6V605|
(=) (i) QBLL6e eTemmed erevresr ?
(i) SEEHT 2 GTETDIe) TN ? iFen QleTHEnOWITS LITEhiSaf 6
: Ceweourfsamer efleuflésalib.
-(a] {i) State Joule’s Law of Heating.
(i) An alloy of nickel and chromium is used as the heating element.
. Why? - o
(iii) How does a fuse wire protect electncal apphances ?
OR
(b) (i) What is a longitudinal wave ?

(i) What is a nuclear reactor ? Explain its essential parts w1th their
functions.

34. (=) (i) EWGSLEH eTehr — uanTUmISSaLD. | ,
(i) HySO, - eéer sevuiflen &g,aﬁg @mu_u_cﬂmema; ETOWS.
(iii} rFgLD &gﬂ@a&m G&rrmrma;@as@m D 2l grsls asemuu_[l.o G&nmrma;@as@m
Qe Cuwren Caumun@&er wrepe ?
600G
(=) (i) Ber wpmb BSerr elenensaner CoumuBE85.
(i) pOBmoWTEsd elamer e eranat ? THSHSSTH H(HS.
(iii) vgeuflens Gamomisaller gGFaYD CPATH LIGRTLSMETS Fomis.
(a) (i) Define : Atomicity.
(ii) Calculate the percentage of sulphur in H,S0,.
{iii) In what way hygroscopic substances differ from deliquescent substances.
OR ,
(b) (i) Differentiate reversible and irreversible reaction.
(i1) What is neutralization reaction ? Give an example.
(iil) Give any three characteristics of homologous series.
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35. (=) (i) sHsreflfer smeypTs saflovws gram@Hb anpmiGomer erg ?
(i) egrriu® enriGorer e y@ha apmiGTer ey ePssii-
u@Slempg ?
(iii) emori&flen Lflawrmng Camunhaemar ol Es.
S|EV6VF)
() (1) emhy QBdl 1q.eremmer. -eneu GOHILLAL L @ misefle Qe 1t LwaTLREDE ?
(i) eodler bIGar dlewd Ceflpss @rar® wisTECemer a;ebﬁquﬁhﬂ
cuaNESaien LD 6T(LPGIS.
(iii) yens Gssalen 2 LFFHEET LHMD Lansulamauier Sw elleerayser Lb
 aflerd@s. ' | -
(a) | (-i) | Which horﬁone induces parthenocarpy in tomatoes ?
(ii) Why is .thyroid' hormone referred as ‘personality hdrmone’ ?
(iii} Explain Lamarck’s theories of evoluﬁon.
| | OR
(b) (i) Which enzyme cuts DNA at specific sites ?
_ (i) Name two maize hybrids rich in amino-acid, lysine.

(iiij Explain smoking hazards and the harmful cﬁeété of tobacco.
~00o0-
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